INTERMEDIATE EXAMINATION — 2023 (ANNUAL)

Model Set

Subject Code :- 220

l.Com.

Accountancy (Elective).

@ (Qos) oI — 100

JqT— 3 °c 15 e Full Marks -100
Time:- 3 hours 15 minute

G UL DI AT : 100 + 30 + 8 = 138
Total No. of questions : 100 + 30 + 8 = 138

gl & fery fAder —

Instructions for the candidates :-

1.

wRiendi OMR SR U3 UR (0T U YRABT HAID (10 3l BI) AL
fored |

Candidate must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

oRleTTeff ALY 37U TR] H T JR G |

Candidates are required to give answers in their own words as far
as practicable.

TR ol TR W RY gy oie e Ffde v §

Figures in the right hand margin indicate full marks.

gedl P MYdd UG & oy uRieAiidl w1 15 e @1 ifaRed |qwd
fe=am T 2|

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
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g8 U YRAPT 31 WSl H B, Gue—3 Ud Hus—q |

This Question Booklet is divided into two sections: Section-A and
Section-B.

Wus—3 H 100 IS U ©, ROFH 9 B 50 YAl &1 IR <A
e 2| wEr 9 3ff¥d UeAl & SR o W UM 50 IRl Bl B

TR fHaT S| U ued & forg 1 3fe FaiRa g1 |8 SR @l

Iuee PR T OMR SR 99 # &3 T &1 g &I et /BTl afed

U | | fF W PR & gEeR /IR U/ @lS /ARG 3Mfe &l

STR—YRTPT H YANT HRAT F1 &, AT el afRomd 3= 8 |

In Section-A, There are 100 objective type questions, out of which
any 50 questions are to be answered. First 50 answers will be
evaluated in case more than 50 questions are answered. Each
Question carries 1 mark. For answering these darken the circle
with blue/black ball pen against the correct option on OMR Answer
Sheet provided to you. Do not use Whitener/liquid/blade/nail etc.

on OMR-Sheet, otherwise the result will be treated invalid.

Yus—g H 30 TYSTNIY U § | ISP U D forg 2 I EiRa €

= 9 gl 15 9991 &1 SR <47 Afar 2 | 590 SifaR«d, 59 wrs
H g fF ST g ¥ € e Uy @ forv 5 3 fAuiRa g

o8 9 58l 4 U9l &1 IR 1 2|

In Section-B, there are 30 Short answer type questions. Each

question carries 2 marks, out of which any 15 questions are to be
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answered. Apart from these, there are 8 Long Answer type
questions, each question carries 5 marks, out of which any 4

questions are to be answered.

8. Pl TR & Selaciivdh SUBRY B SKHTS Yol il = |

Use of any electronic appliance is strictly prohibited.

Section - A
Yus—3 (qxqf-1s u¥)
9T GRIT 1 W 100 db & YA U & I IR fddpey fRu v 8, w9

Tdh |El & | fdgl 50 Ul @ SR < | AU gRT g Y Hel fAwmed & OMR—3fie
R ffed w | 50 X 1=50

Question No.- 1 to 100 have four options, out of which only one is
correct. Answer any 50 questions. You have to mark your selected option on

the OMR-Sheet. 50x1 =50

1. 9d Jfdd & 981 9 T HuRT I $HeT ol © -
(A) AT (B) <
(C) aaa (D) =iaT
Property as a result of the will of the deceased person is called :
(A) Honorarium (B) Donation
(C) Legacy (D) Subscription
2. SYANTSY Hal @ ! § it o7 J41 S 2

(A) ToTTa grftet (B) oRIATa it
(C) (A) 3R (B) <=1 (D) 394 & PIg &l



All receipt from the sale of consumables are treated as :
(A) Capital Receipt (B) Revenue Receipt
(C) (A) and (B) both (D) None of these
USiTa Ui @1 a1 uiftqal faems el & -

31, IMI—< W H . Rerfer fqaor 4

q. AM—8T @rd o T ARG W ¥

All receipt of capital nature are shown in:

(A) Income and Expenditure A/C

(B) Balance Sheet

(C) Profit and Loss A/C

(D) Trading A/C

=1 % 9§ BT oy Al 7 ?

(A) =T (B) ™=

(C) feme @ famt (DEESRIE]

Which of the following is not an income ?

(A) Subscription (B) Donation

(C) Sale of Ticket (D) Endowment Fund
fAffT R U @ ® -

(A) 3T (B) o

(C) == (D) st

Interest received on investment is

(A) Income (B) Profit



(C) Expense (D) Capital

fFrefaRad 3 9§ SF—T, J—a3g @ H o §iar g 2

(A) |t @1 B (B) wrft T SwITT

(C) W™ &1 Th (D) (A) 3R (B) &I

Which of the following is recorded in Income and Expenditure A/C ?

(A) Purchase of Material (B) Consumption of Materials

(C) Stock of Material (D) Both (A) and (B)

WRHR I YT & Bl o
(A) ST grfe (B) IsirTd =g
(C) (D) Urfte

Grant received from the Government is :

(A) Capital Receipt (B) Capital Expenditure
(C) Income (D) Receipt

AT @1 fasp & BT aTeT o Bl ©

(A) s (B) mft

(C) =i (D) &7 & BIg el
Profit on sale of asset is :

(A) Income (B) Receipt

(C) Expenditure (D) None of these

Uit Ud YA @Tar ol URMe Y e 2
(A) 81T H e (B) ¥ # Adbs
(C) e (D) SR |+t



10.

11.

12.

The opening balance of receipt and payment account shows:

(A) Cash in hand (B) Cash at bank
(C) Bank overdraft (D) All of these
g Bl ©

(A) 3 (B) otrrar wife

(C) fofrra (D) =

Legacy is

(A) Income (B) Capital Receipt
(C) Capital Expenditure (D) Profit

ATSER B Jog TR BH S T9—8I B T BT Sl 8

(A) foxiT a8 & 3fd d& (B) 5g @ fafdr a&
(C) fusel a¥ d&® (D) 31Tl @Y T

On the death of a partner the profit of the firm is calculated :
(A) At the end of financial year (B) Till the date of death

(C) Till previous year (D) Upto next year

U AISIGR I g B W FIH Siigd 441 diferdl & HHYT I & T

e &I /1 & Yol - 3 ST fham S @

(A) Y AR (B) dadl Ha TSGR
(C) il WreIeR (D) ¥ ATEER

On the death of a partner, a share of surrender value of joint life policy

is credited to the capital account of

(A) Remaining partner (B) Only the deceased partner



(C) All partner (D) Future partner
13, {d WIEIER &I g X gabrg Sl 2

(A) faar @1 (B) Tt I

(C) FreiR® T (D) &Rl I

The amount due to the deceased partner is paid to his.

(A) Father (B) Wife

(C) Executor (D) Friends
14. 97 diferll @ |Afda o9 9 oMM 2

(A) ST ffl WERR @ 99 R U &
(B) ST urferfl & <7 89 W U &

(C) <t urfersl & <1 fafyr | qd urad &1 el 2

(D) SWRIad

Surrender value of an insurance policy means —

(A) Which is received on the death of a partner

(B) Which is received on the due date of the policy

(C) Which can be received before the due date of policy

(D) All of the above

15. VRGN GHYH & TRId Bl © -
(A) 3ol edfd gRT (B) a1f<rar HATa=
(C) Tl & 3MMe §RT (D) SR T
Modes of dissolution of Partnership are —

(A) By mutual agreement (B) Compulsory dissolution



16.

17.

18.

(C) By order of court (D) All of the above

ARIER BH & AT & 31 & —
(A) BH & EATT BT FATIA (B) dufral wa g1l &1 fuer
(C) (A) 3R (B) T (D) 78 9| BIg T8I

Dissolution of partnership firm means :

(A) The termination of firms business

(B) Disposal of asset and liability

(C) Both (A) and (B)

(D) None of these

BH B FURRl B ST I Ui IR FdyeH I Sl ST —

(A) & T (B) BH & oFER

(C) WIARY @ Toh (D) §% o

The amount realised from the sale of assets are firstly paid to :
(A) Firm’s Loan (B) Firm’s Creditors

(C) Capital of partners (D) Bank overdraft

URT AT QIR pl ANT &XTIR Bldl g

(A) S5 T U & (B) TAT—GRTT ST
(C) ST QR 3rguTd & (D) g9 | PIg Bl

The sacrifice of old partner is equal to :
(A) Their new ratio (B) New - old ratio

(C) Their old ratio (D) None of these



19.

20.

21.

22.

BH & THOT UR Uil ) 9@ I ured 0y bl forr S g

(A) Tl @1 & Sfde geT (B) aIell @ & wfse ue H

(C) fores + (D) 9TeeRl & Usil &md |

Amount received from the sale of asset on dissolution of the firm is
recorded in :

(A) Debit side of realization A/C  (B) Credit side of realization A/C

(C) Balance Sheet (D) Capital A/C of partners

Y b IO TR ST SxdidRd bl Sl 2

(A) FTEeRl & Yot @ 4 (B) s & wfse uel #

(C) agch @ & Sfdc uer 4 (D) 9el @ & isc ueT
On dissolution of partnership firm, goodwill account is transferred to :
(A) Capital A/C of partners (B) Credit side of cash A/c

(C) Debit side of realization A/c (D) Credit side of realization A/c

S Udh AEER 9 o g Sl & of ofdl & 99 S9adl Yol Wrar fhar

SIGIE
(A) 3fae (B) B
(C) (A) 3R (B) gt (D) 5% | BIg e

When one of the partner takes unrecorded liability then his capital

account is :
(A) Debited (B) Credited
(C) Both (A) and (B) (D) None of these

AR BH & §AUE W G FuRnll @ swaaRa fear S §
(A) b @Td H (B) \r=IeRT & Yol @rd |



23.

24.

25.

(C) agel @ # (D) vr @rd H

At the time of dissolution of partnership firm, fictitious asset are
transferred to :

(A) Cash Alc (B) Partner’s capital A/c

(C) Realisation A/c (D) Loan Alc

FAOA I B Il @ & o uer # foram Siar g 2

(A) sl (B) Sfee

(C) f¥e (D) wuft

Realisation expenses are written in which side of the Realisation A/c ?
(A) Liability (B) Debit

(C) Credit (D) Asset

BH & f[Jged & §HI FURTEl & QR 4o el W & b ueT H

forar Sfrar g ?
(A) sfae (B) Bfec
(C) aTfre (D) HuRY

At the time of dissolution of firm, the book value of asset is recorded in
which side of realization A/c ?

(A) Debit (B) Credit

(C) Liability (D) Asset

SFERI & A &I forar S © ¢

(A) Tl @Td & Sfde get (B) aIell @A & fse ue |
(C) e & <1 uet H (D) fores & dufxl uer H
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26.

27.

28.

Payment to creditors are recorded in :
(A) Debit side of realisation A/c  (B) Credit side of realisation A/c

(C) Liability side of balance sheet (D) Asset side of balance sheet

®H & fdEed R, AEleRl & Yol @ dg fdhy o ¢

(A) Tl T & JRIH | (B) 3MMERTT @I & ARIH |

(C) d& @rd & Arewd | (D) Yol @1 & Aegq |

On dissolution of the firm, partners capital A/c are closed through :

(A) Realisation A/c (B) Drawing A/c

(C) Bank Alc (D) Capital A/c

U AISERI BH & AT & ST § A F0T BT SRl fHI1 S1am 2

(A) JMT—17 @1 H (B) a¥efl @md |

(C) Vs @ (D) ¥ofr @t A

In the event of dissolution of a partnership firm, the provision for
doubtful debt is transferred to :

(A) Income and expenditure A/c  (B) Realisation A/c

(C) Cash Alc (D) Capital A/lc

ATSIGR B 9gell & d&ol (&A1 S a1l HHIRM 9 Yol Erd & fbd 9T

¥ forar AT 2 ?
(A) Sfde (B) Bfee
(C) (A) 3R (B) gt (D) 5% | dIg 7

The commission Payable to partner on realization of asset is written to

which side of his capital A/c ?

11



29.

30.

31.

(A) Debit (B) Credit
(C) (A) and (B) both (D) None of these
FAURR & @I §§ B R S8 fHAT Sl ©

(A) sfae (B) shfe

(C) Sirs (D) & |

To close the asset account, they are :

(A) Debited (B) Credited
(C) Added (D) All of these
HURRIT BT IGell W H SR [HIT ST 3§

(A) TP eI ™ (B) STOTR o7 W
(C) 3Md Hed W (D) &7 o7 W
Asset are transferred to Realisation A/c on :

(A) Book value (B) Market value

(C) Average value (D) Less value

Il @ FHY A MY & Fa H {Y 9 Pal AT 81 Al IHD A [l

NIGIE
(A) I oI WR (B) 10 fcrerd &9 W
(C) 10 Ufcrerd SiTgHR (D) 9T9IR e W

If nothing is directed regarding liabilities at the time of realization then it
will be paid at :
(A) Book value (B) Less 10%

(C) Add 10% (D) Market value

12



32.

33.

34.

fored # fawrg w18 =1 @7 dfer i @ ¢

(A) FTsIeRl & Yoil arurd | (B) WISIERI & o™ fuToe JrguTa
(C) |u=ll & argura 4 (D) QT 3uTd H

The loss appearing in the balance sheet is distributed in the ratio of :

(A) Partners capital (B) Profit sharing of partners

(C) Assets (D) Sacrifice

AR & Ude & AHI—YGe™Ih UR A B+ Bl d84 PR ©
(A) TR IR (B) TN WERER
(C) ol AEeR (D) 3779 & PIg T8l

Profit or loss on revaluation at the time of admission of partner is borne

by :
(A) Old Partners (B) New Partners
(C) All Partners (D) None of these

STg Uh AT AIeieR I & A e § A8 orar g dr S99 31 & sfde
BN
(A) =nfa & &md Ao (B) AV \TIERl & Yol @Td H

(C) Jrws @t H (D) R AEERI & Yol @rd o
When a new partner does not bring his share of goodwill in cash then
his share will be debited to :

(A) Goodwill A/c (B) Capital A/c of new partner

(C) Cash Alc (D) Captital A/c of old partner

13



35.

36.

37.

38.

<ifera g1f9 911 Sl B
(A) R ATIERI A (B) 71T ATEIERI #
(C) (A) 3R (B) THI (D) 3TH & B =l

Accumulated loss is distributed in :

(A) Old partners (B) New partners

(C) Both (A) and (B) (D) None of these
JTRIIBT @I B AH—2I el Sl 8

(A) T ATEIERI # (B) QR ATSIGRI H
(OEMEIECNE (D) SWRIFd H | Py el

The profit on revaluation A/c is distributed among :
(A) All Partners (B) Old partners

(C) New partners (D) None of the above

e BH H ARG $T FagR fhar rdr 2 -

(A) AS-26 & TR (B) AS-3 & 3FER

(C) AS-20 & 3IJER (D) SUT STRAFTIH & AR
In partnership firm goodwill is treated according to :

(A) AS-26 (B) AS-3

(C) AS-20 (D) Companies Act

ATSICR & 31TPTI T8I b PN :

(A) o™ faToT srguTa H gRad g1

(B) A& &1 HeAich B

(C) SulT ud SR 1 Yqedich BITI

14



39.

40.

41.

(D) SWRIad

Retirement of a partner will cause :

(A) Change in profit sharing ratio

(B) Valuation of goodwiill

(C) Revaluation of assets and liabilities
(D) All of the above

S & FUN A ol ol P ¥ ?

(A) srferaT gof (B) Ftfenr i
(C) sranfera it (D) v i

Which of the following is the registered capital of a company ?

(A) Authorised capital (B) Issued capital

(C) Uncalled capital (D) Paid up capital

e afell & YA W BIH, S @1 TS RN F BH 8 Al oM SRIaiNd

forar Smar g -
(A) TSl =g @rd | (B) M H9dg @Td H
(C) am—z1f+ = (D) SH ¥ Bl 2l

If loss on the reissue of share is less than the amount forfeited, profit
will be transferred to :
(A) Capital Reserve Alc (B) Revenue Reserve Alc
(C) Profit and loss Alc (D) None of These
3 & IS W YT MR IR AARITT BT T Fahvell &

(A) JTTdeT & AT (B) YoM ITaT & AT

15



42.

43.

44.

(C) fe<ira ra=r & 5 (D) SwRiaa |t

The excess amount received on application of share can be adjusted

against :
(A) Allotment (B) First call
(C) Second call (D) All of the above

T B IR A T TR o e §
(A) sty i (B) faffirar o
(C) w¥a i (D) gabar Yol

Capital included in the liability of a company is called :

(A) Authorised capital (B) Issued capital
(C) Subscribed capital (D) Paid up capital
39l &1 feriee b e &

(A) THad T H (B) BdaT SR H
(C) 37 Uit (D) (A) &R (C) <

Share are issued at :

(A) Only cash (B) Only Credit

(C) Other consideration (D) (A) and (C) both
ROTYH 3fTde Wil &I YRl ©

INESIEEZCIR] (B) afdaTa @
(C) AMHATH @l (D) 3reafadira @rar
Debenture application A/c is in the nature of :

(A) Real Alc (B) Personal Alc

16



45.

46.

47.

(C) Nominal A/c (D) Impersonal A/c
FOUH & AT W) B @1 69 e @ siaia @ oar & afe saat

Ul 12 A8 & 3fax fbar e & ?

(A) s <Ry (B) =reg, wafy

(C) =y, 3R (D) 3rerg Huf

Loss on issue of debenture is shown under which head, if it is to be

written off within 12 months ?

(A) Intangible Asset (B) Current Asset

(C) Current Liability (D) Non-current asset
FRUTYFER] DI HAdT ©

(A) efrarer (B) =urst

(C) arTa (D) @

Debenture holder receives :

(A) Dividend (B) Interest
(C) Bonus (D) Profit
FOTOH 2E UM g

(A) wfeT (B) =tfaca
(C) Yofra @ (D) smms
Premium on Redemption of Debenture is :

(A) Asset (B) Liability

(C) Capital Expenditure (D) Revenue

17



48.

49.

50.

WS & UPR ©

(A) JrfaRed arfder (B) o9 31

(C) gof arfireT (D) I |

Types of subscriptions are :

(A) Over subscription (B) Under subscription

(C) Full subscription (D) All of these

3ell BT 3fEed BUAT AR P HH gRT & Urag=i & AR B S

g7

(A) 40 (B) 39

(C) 60 (D) 50

The allotment of shares are made according to which section of the
companies act ?

(A) 40 (B) 39

(C) 60 (D) 50

e 3fde Rt JffaRad i1 15 Al & @iar 21 dierg Wil g df 39

R T T ©

(A) 12 wfcrerd gfcad (B) 15 ufererd wferad

(C) 10 wfcrerd ufcray (D) 8 wfcrerd ufcray

If extra money received on application of shares are not returned within
15 days then interest will be paid @:

(A) 12% p.a. (B) 15% p.a.

(C) 10% p.a. (D) 8% p.a.

18



51.

52.

53.

54.

PR HUH H UG B ©

(A) T (B) =

(C) amrer (D) &1t
The shareholders receive from the company :
(A) Commission (B) Profit
(C) Dividend (D) Interest
HUAT BT NAFH & wY H Urwd SffcrRead T 8

(A) GSIRTd 8T+ (B) SMATERT A9

(C) qeirTa < (D) sma

The extra amount received by a company in the form of premium is :
(A) Capital loss (B) Abnormal profit

(C) Capital profit (D) Income

I areET St @

(A) fse w9 (B) 3fe 3w

(C) w9 3y (D) &7 & BIg el

Calls in Advance shows :

(A) Credit Balance (B) Debit Balance
(C) Equal Balance (D) None of these
UEh ol U & TSl DI B an G Bl §

(A) 50 (B) 70

(C) 200 (D) 100

19



55.

56.

57.

Maximum number of members in a private company are :
(A) 50 (B) 70

(C) 200 (D) 100

3797 IMAGT—UF Wi &l UG 7

(A) HfdaTd @l (B) THATH @t

(C) ar<fder W (D) Sz @ran
The nature of Share Application A/C is :

(A) Personal Alc (B) Nominal A/c
(C) Real Alc (D) Artificial A/c
RS @ H wfAe fey 9§

(A) GSITHRUT Fodh (B) & o
(C) o=t HHeH (D) ¥ w

Preliminary expenses include :

(A) Registration Fees (B) Stamp Fees
(C) Underwriting commission (D) All of these
afel ¥ U U fhy I ®

(A) TP Te (B) foret &

(C) (A) iR (B) TMi (D) 57 & ®IE &

Money received through shares is in :
(A) Lump sum (B) Installment

(C) Both (A) and (B) (D) None of these

20



58.

59.

60.

U & 3MTda IR I TS B YR 3 M WIeT har Siren &

(A) e (B) e

(C) (A) 3R (B) <t (D) 5% ¥ Ig &

Share application A/c, on receipt of money from share application is
(A) Credited (B) Debited

(C) Both (A) and (B) (D) None of these

FOYA & e R NEH o e faes # fe@mr S ©

(A) JIIBIAT UTTIE & w9 H (B) STei@Tel yraeE & w9 H

(C) 3= reaTeid i & w9 § (D) 319 3feudhleld a1id & wJ o

Premium on redemption of debenture is shown in the balance sheet

as:
(A) Short-Term provision (B) Long-Term provision
(C) Other long-term liability (D) Other short-term liability

I HUA dive R fdhy o &

(A) I ST &R W) (B) gg M&iRd &ama1 &% WR
(C) fa=r g feiRa =ae &* W (D) 3TH & BIg =l
Zero coupon bonds are issued at :

(A) Zero Interest rate

(B) Pre-specified rate of interest

(C) Without determined rate of interest

(D) None of these

21



61.

62.

63.

64.

FEOTOH I B ULATq RifhT BUS ok@T &7 AV <ifhd gar §

(A) a9 B @I H (B) 9T Wog @ H
(C) RifpT wos &g # (D) RifdT wos faer @ o

After redemption of debenture the balance of sinking Fund Account is

entered to :
(A) Profit and Loss Alc (B) General Reserve Alc
(C) Sinking Fund A/c (D) Sinking Fund Investment A/c

Rifh T Bue e W U T B Bfse fhar e 2

(A) A=Y HAg Gl (B) Rife wue Frer
(C) ari—eIfsy @t (D) & |

Interest received on sinking fund investement is credited to :

(A) General Reserve Alc (B) Sinking Fund A/c
(C) Proft and Loss Alc (D) All of these
FROYAT BT WeH fBar S @ -

(A) e H 9 (B) It 5 &

(C) yraerm= | (D) T &+t

Debenture can be redeemed out of :

(A) Profit (B) Capital

(C) Provision (D) All of these
TGS BT e el a1 ST qehell © :

(A) & (B) D

(C) acear (D) 10 gfaword & rfd hiftrH

22



65.

66.

67.

Debenture can not be redeemed at :
(A) Par (B) Premium

(C) Discount (D) More than 10% premium

10 Uferd ®&o9sl @ ®ul @ faes # fhd Swefie @ siaia fewman

SITQT?
(A) SrEiPpTele 0T (B) STei@Tel™ yraem=
(C) =ey, <Tfa (D) =meq, wufy

10% debenture will be shown in a companys’ balance sheet under

which sub-head ?

(A) Long-term loan (B) Long-term Provision
(C) Current Liability (D) Current Asset

fpa faeeryor &1 wrfaefia |7 T ST g 2

(A) ¥ fawersoT (B) &fert fargerwor

(C) amicRe faweryor (D) arer farzeryor

Which is dynamic analysis ?

(A) Vertical Analysis (B) Horizontal Analysis

(C) Internal Analysis (D) External Analysis
foxig faavoll & faweiyor &1 7e7 Seed © ¢

(A) ATIETISAT BT ST (B) faxira fqa=oni &1 Sirg

(C) ATUTET BT FIE BRI (D) use[ &7 3Mfdet
The main object of analysis of financial statement is :
(A) To know the profitability (B) To check financial statement

23



68.

69.

70.

(C) To satisfy beneficiary (D) Assessing Performance
= § pe—1 fa<ig fqexol &1 a3 & ?

(A) & faear (B) SI—g1fw @rar

(C) (A) 3R (B) &I (D) g4 ¥ &g el

Which of the following is the element of financial statement ?
(A) Balance sheet (B) Profit and Loss Alc

(C) Both (A) and (B) (D) None of these

s I B HuRy e s H g |uRky' W @ siavd g

ST ® 7
(A) Tfa (B) vz ur
(C) e (D) Vs

Which of the following asset is shown under the head “fixed asset” in

the balance sheet ?

(A) Goodwill (B) Bills Receivables
(C) Building (D) Cash
AM—gI fqaRor geriar

(A) -z (B) facirar Rerfay

(C) Ips 2y (D) d= 2
Statement of profit and loss shows :

(A) Profit and Loss (B) Financial Position

(C) Cash Balance (D) Bank Balance
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71.

72.

73.

74.

FoTqa e & TP fafer ®

(A) e fafer (B) el dIoIR #
(C) uReci+ 4 (D) SwRia a4l
One of the method of redemption of debenture is :

(A) Lottery Method (B) Purchase in open market

(C) Conversion (D) All of the above

IR & TMIE @ MR W HUN & IR ©

(A) 32T gRT HIfFd Hu=t (B) TRUET gRT AIfAT Bl

(C) 3rfda wul (D) SWRIaa AT

On the basis of liability of member, types of company are :

(A) Company limited by shares  (B) Company limited by Guarantee
(C) Unlimited Company (D) All of the above

frforRad & | SF—AT U BT T Telkg T ?

(A) aTvE HHT | (B) Ut SidfTas

(C) gfarer (D) SwRiad @

Which of the following is an important document of a company ?
(A) Memorandum of Association (B) Articles of Association
(C) Prospectus (D) All of the above

gfaRor SIRY fam ST &

(A) 37T IR B F T (B) 31 SIRI &A@ 91

(C) Bl BT AT | g (D) SWRITT § F P sl
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75.

76.

77.

Prospectus is issued :
(A) Before issue of share (B) After issue of share

(C) Before establishment of Co. (D) None of the above

S SR BT 7T Sl | 2ifde e ordT 2 dl e A ST ®

(A) FaTgUTfCTD (B) arfeHr=it

OEs (D) ST Wl

When more applications are received than the number of share issued,
then the allotment is made : -

(A) Pro-rata (B) Preferential

(C) Ratio (D) All of these

7 ¥ | PI—9T AP ST T8l © ?

(A) ¥t (B) areuaret
(C) aeta (D) WTEER ®H

Which of the following is not a non-profit organisation ?

(A) School (B) Hospital
(C) Club (D) Partnership Firm
faf¥re < 7 :

(A) gofrrer aft (B) T wifte

(C) Sy (D) $ < pIg ALl

Specific Donation is :
(A) Capital Receipt (B) Revenue Receipt

(C) Asset (D) None of these
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78.

79.

80.

HISTER BT dd- A9 fbar Siar @

(A) @RS G (B) ami—=T e @rar
(C) ArF—gT e (D) ferear

Partners salary is debited to :

(A) Trading Alc

(B) Profit and Loss appropriation A/c

(C) Profit and Loss A/c

(D) Balance Sheet

Tfer b HURT B

(A) et (B) 7t

(C) argd (D) Feger
Goodwill is an asset :

(A) Worthless (B) Tangible
(C) Intangible (D) Valueless

AawBW%lCaﬁ%wﬁwﬁaﬁﬁmmélcmw$

foT %0 1,20,000 YSh & ®T # 1T B | BH &I Yg I °
(A) 1,00,000 (B) 4,00,000

(C) 1,20,000 (D) 6,00,000
A and B are partners. C is admitted with % share. C brings Rs. 1,20,000

as his share towards capital. The total net worth of the firm is :

(A) 1,00,000 (B) 4,00,000
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81.

82.

83.

(C) 1,20,000 (D) 6,00,000

FrfeiRad # 9 $I—a1 agR dre], AU ¥ JIR ST 2

(A) AT BT T HA (B) UTed! | b Uit

(C) TFERI &I JITa (D) 91T &7 SUR
Which of the following transaction will improve the current ratio ?
(A) Purchase of goods for cash  (B) Cash received from customer

(C) Payment to creditors (D) Credit purchase of goods

Sl URf% T W0 50,000 ifdH Wb H0 60,000 3R I T AT Pl oIRTd

0 2,00,000 & Al TP 3T AT BT -

(A) 2 T (B) 3 T

(C) 4 TTom (D) 5 oI

When opening stock is Rs. 50,000, closing stock Rs. 60,000 and cost
of goods sold is Rs. 2,00,000 then stock turn-over ratio is :

(A) 2 times (B) 3 times

(C) 4 times (D) 5 times

o & @ pH—T Gl g 8 § ?

(A) fepzra (B) faepT =13

(C) woIg (D) #efi=T skl R &ify
Which of the following is not an operating expense ?
(A) Rent (B) Selling Expenses

(C) Wages (D) Loss on Sale of Machine
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84.

85.

86.

87.

i Il w0 420000 fIshl IMUAT w0 20,000 TAT & Y ATA Pl AN [0
3,20,000 BT I AHA AT AT BT -

(A) 20% (B) 25%

(C) 15% (D) 10%

If sales is Rs. 4,20,000, sales returns is Rs. 20,000 and cost of goods
sold is Rs. 3,20,000 then gross profit ratio will be :

(A) 20% (B) 25%

(C) 15% (D) 10%

g8 ¥ DI AT IR M 7 ?

(A) gEaIT BT fdmT (B) &1 3

(C) T & (D) R B fawr & o
Which of the following is an operating income ?

(A) Sales of marchandise (B) Interest income

(C) Dividend income (D) Profit on sale of car

APS BT SUINT a1 2 :
(A) et 4 gfg (B) STeRY # gfy

[N

(C) zefoan H gfg (D) yde =g ¥ glg

Not an application of cash :

(A) Increase in creditors (B) Increase in debtors
(C) Increase in stock (D) Increase in prepaid exp.
JApe garg faaRor menfRa grar @

(A) eETH-T & IUTOIT MR W (B) @i & P 3MUR W
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88.

89.

90.

(C) (A) 3R (B) S (D) 37 & BIg e

Cash flow statement is based upon :

(A) Accrual basis of accounting  (B) Cash basis of accounting
(C) Both (A) and (B) (D) None of these

Adhs, TAge H el BT 7 ¢

(A) Zordr faa (B) aamaiRe wo
(C) &\ uRuaqdr drel d§& H T (D) SWRIad 1
Cash equivalent includes :

(A) Treasury Bill (B) Trade Bill
(C) Bank deposit of short maturity (D) All of above
fo=iar foban & aidefa 3t @ -

(A) 3feil & et 9| wiftq (B) T faz
(C) fafarT @1 famt (D) F®g &Y
Comes under financial activities :

(A) Receipt from issue of shares (B) Cash sales

(C) Sale of Investment (D) Cash purchase
3MERT =Te] UM & :

(A)2:5 (B)2: 1

(C)1:1 (D)1:2

Ideal current ratio is :
(A)2:5 B)2:1

(C)1:1 (D)1:2
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91.

92.

93.

94.

0 5,00,000 B Y&IH Hed Bl AR BT 5 Ulrerd 81 wR o=, faer fhamsi

& Jiaia b Iidalg NI

(A) 5,00,000 (B) 4,75,000

(C) 5,25,000 (D) 6,00,000

A machinery with book value of Rs. 5,00,000 sold at 5% loss, cash
inflow under investing activity will be :

(A) 5,00,000 (B) 4,75,000

(C) 5,25,000 (D) 6,00,000

= # | -1 7 s god T8l © 2

(A) & srfafdey (B) vefora

(C) 3reudrei fafarT (D) SWRIad |4

Which of the following is not cash equivalent ?

(A) Bank overdraft (B) Stock

(C) Short-term investment (D) All of these
s yarg faaver Hefd @ :

(A)T. Td— 5 (B)T. vH -6
C)u -3 (D)T. -2

Cash flow statement is related to :

(A) AS-5 (B) AS-6

(C) AS-3 (D) AS-2

ATe] Uy § B BT FaTes | o™ # R fhar Siar ® °?
(A) Trer (B) Stret
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95.

96.

97.

(C) |1 T (D) Trom fepar

What is done in operating profit if there is decrease in current assets ?

(A) Substracted (B) Added

(C) Divided (D) Multiplied

RIehg FaTE faaver o1 e @

(A) Tarer fhar & e (B) faferamr fopar & =re
(C) foxira fopam & =71 (D) & |+

Part of cash flow statement :

(A) Cash from operating activities (B) Cash from investing activities
(C) Cash from financing activities (D) All of these

= § & -1 U6 IR IHs AS © ?

(A) B (B) =IfTl &7 Jqeia+

(C) (A) 3R (B) &I (D) T & BIS el

Which of the following is a non-cash item ?

(A) Depreciation (B) Goodwill written off

(C) Both (A) and (B) (D) None of these

fIsha # 99 Y A1 @ AR geId] A Bl Sl ©

(A) SrETer (B) el T
(C) gg o™ (D) Bt T
Sales less cost of goods sold is called :

(A) Operating profit (B) Gross profit
(C) Net profit (D) Total profit
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98. FUIYAl & IEF UR o BT {Hg Wrar ¥ sxaidRd fhar e & ?

(A) TS Fag @ (B) Rifdp wue @ran

(C) 9= H=rd "Tdl (D) a\—z1f e
Profit on redemption of debenture is transferred to which account ?
(A) Capital Reserve Alc (B) Sinking Fund Alc

(C) General Reserve Alc (D) Profit-Loss A/c

99. WI P RUYF d KUUF 2 foT= huAl

(A) 399 &1 gaddl I AEfed Hel §
(B) &t Frdere @1 ardfed wwed) &
(C) IR ¥ TWRIGH Y- I &l &
(D) 57 & 31g e
Own debenture are those debenture of the company which is :
(A) Allotted to its own promoters
(B) Allotted to its directors
(C) Purchase them from the market and hold them.
(D) None of these
100. TG AT WR AfTHdH 1ol foly I Favdl 2
(A) 5% (B) 6%
(C) 10% (F) 12%
Interest on calls in arrear can be charged maximum at :
(A) 5% (B) 6%
(C) 10% (F) 12%
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Yus—9q / Section-B

oY I 9%/ Short Answer Type Questions

U AT 1 ¥ 30 IP oY SR © | 59 ¥ el 15 Ul & IR < | UAD YA
& forg 2 o PefRa §) (15x2=30)

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each

question carries 2 marks. (15x2=30)

1. I gd I @i & Hig &l faeman ey |
Write any two characteristics of receipt and payment A/c.

2. SUHNTSI 7S &RIT 8 2
What is consumable items ?

3. AM—BI ARG Gl & Sfde U § ford S arel a9 #al &l
fored |

Write any three items recorded on the debit side of profit and loss

appropriation account.

4. AT 3R FAT TH ®BH H WHER €| 9 o™ T B Bl 3 1 2 B

&quﬁqﬁmﬁlﬁﬂﬁ%ﬂaﬁi%w¢%mtﬁﬁﬁWaﬂﬁ§Hﬁ

AT RIS SIUTT 1 9T HITY |

Amit and Sumit are partners sharing profit and losses in the ratio

of 3:2. They admitted Mohan as new partner for % share in the

profit. Calculate new profit sharing ratio.
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10.

1.

AT IR Feirel FRIGR 8 9 AM—8I Pl 21 & 3urd H dfed g1

SIS DI ™ H i 2Ry & | AEER 949K € | QN U &I T

DI |

Anil and Sunil are partners sharing profit and loss in the ratio of
2:1. They admit Jamil as a new partner for i share in profit.

Calculate sacrificing ratio.

Afd o™ @ ' ?

What is Accumulated profit ?

ARIGR & G A MY FI7 A & ?
What is meant by retirement of partner ?
HYFd T diferedl &1 FHder e 9T § P

What is surrender value of joint life policy ?

Hd AISIGR BT YA BRI & DIA—DI A b 8Id & ?

What are the methods of payment to a deceased partner ?

e e AeIeR @ 9 99 & SR B 8 Sl 8 a9 M B IOl

B P oI B P

If a partner dies during the year, how profit is calculated ?

e & IO R ISR Y & A9 & 3¢ IV |

Distinguish between dissolution of partnership and dissolution of

partnership firm.
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

I WAl T YD @Il H 4 I |
Distinguish between Realization A/c and Revaluation A/c
JH ST R®T 7§ 2

What is a statutory company?

A5l BuT @1 a1 faeivarst &1 ford |

Write two essential features of a private company.
uTyE AT R @ 2 ?

What is memorandum of association ?

o, @, ol B R pve ford |

Write full form of I.P.O.

gRadiie aifer ofFr & 7 2

What is convertible preference share ?

3l T gec W T Far 2 ?

What is issue of shares at discount ?

DY I FT B ?

What is under subscription ?

el B Sl b oIy DT STt gfas] & Sl g ?
Which journal entry is passed for forfeiture of shares ?
FOTAAT DI STRI BRI TR B AT 8 2

What is meant by loss on issue of Debenture ?
R—uRadefiar oo | oMy Fa7 FAS & 7

What is meant by non-convertible debenture?
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23.

24,

25.

26.

27.

28.

29.

30.

g 2NeE & fhel ar fafery &1 ford |

Write any two methods for redemption of debenture.

AT W OIS BT WE T B 7

What is redemption of debenture out of profit ?

o< faeeryor @&1r © 2

What is financial analysis?

| MBR faavor 1 2 ?

What is common size statement ?

3rguTa faweryor @I 7§ ?

What is ratio analysis ?

B B Yg I [0 50,000 AR Y& @M WO 15,000 B A g ™
JIUTT =T BIFT |

Calculate net profit ratio if net sales of the firm is Rs. 50,000 and
net profit is Rs. 15,000.

RIbs yarg fdavor & &1 o™ ford |

Write two advantages of cash flow statement.

FO—HAAT 3TATT T & ?

What is debt-equity ratio ?

" 9a9F 937 (Long Answer Type Questions)

U9 GRYT 31 9 38 b oY SN 2 | 399 A fhal 4 YTl & SR S | YD U

& forg 5 o FEiRa §) (4x5=20)
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Question no. 31 to 38 are Long answer type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)

31.

32.

33.

34.

35.

A fIfics 9 %0 10 dTel qUITT ATRRIA 200 A DI, ST @i & urdq <,
3MEe IR w0 3 YR 3 qAT SifcH AT W0 4 UfT 3P & a2l
fhY S & RO S R ol | 99 W0 3 Ul 3720 afded R & o |
Sl & o) St gfafte Shifeg |

A Ltd. forteited 200 shares of Rs. 10 each fully called up, held by
Swati for non-payment of allotment money Rs. 3 per share and
final call of Rs. 4 per share. She paid the application money of Rs.

3 per share. Give journal entries for the forfeiture of share.

ARG BT GAITIT BT dTel HRDI DT IRAT N |
Explain the factors affecting goodwiill.

U fIeelvor RIT 57 gHd! WHY R®IT & 7

What is ratio analysis ? What are its limitations ?

FOYAT b T IR BT S Tl SH o gfafteal o ford |

Write the journal entries on issue of debenture.

FTfeTRad el | Wby AT UTd Sd DIy |

IEE])] %0 4,00,000
3irad efer w0 55,000
Hehel B 3FUTT 10 Tfererd

Calculate stock turnover ratio from the following informations :

Sales Rs. 4,00,000
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Average Stock

Gross loss ratio

Rs. 55,000

10%

36. P, Q3R R 5:3:2 & 3fgurd H ol &1 faTed &Rl & | 1 U, 2021

@ Y9 I d U Aiq &A™l Bl 4:3:3 B AU H died B v

B B | I fofdy &1

ON N

AR oI fdar 1

Aufrar J&® A e qou
ENIEN 50,000 40,000
SER 80,000 1,00,000
TSR 1,20,000 1,00,000
EREIN 1,40,000 1,20,000
foraer 44,000 50,000
3red & 11,200 12,000

FURMEl Ud SRl T HeNfed o &7 JRIhl H ol B+ & oy HIEER

HEAT BU| A faure Jgurd H URdAT & BRUT BH DI GIdDl W ATITID

RISTTEaT gfasd) BT |

P, Q and R shares profit in the ratio of 5:3:2. They decided to

share their future profit as 4:3:3 with effect from 1% April, 2021. In

that date following revaluations have taken place.
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Assets Book Value Revised Value
Machinery 50,000 40,000
Building 80,000 1,00,000
Debtors 1,20,000 1,00,000
Creditors 1,40,000 1,20,000
Investment 44,000 50,000
Outstanding Expenses 11,200 12,000

Partners agreed that revised value of assets and liabilities are to

be recorded in the book. Give necessary journal entry in the books

of the firm on account of change in profit-sharing ratio.

37. f=ferRed faavor & Fare fhametl | Jds Ya1ig &1 0T BIRTT —

Rs.
9y & foy g o™ 5,00,000
gy & URY H SIER 2,20,000
Iy & 3fd H IR 3,06,000

Calculate cash flow from operating activities from the following :-

Rs.

Profit for the year

Debtor at the begining of the year

Debtor at the end of the year
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2,20,000

3,06,000




38.

729 fIfics 9 U¥& W0 100 dTel 1,000, 10 Uferd ol &f fFrifAd
fham RO IR [0 40 MG R, W0 30 IFST W TAT D1 AT W <
| I§ AMd gU DI AT IraAN B T SR 9 W 9 IRATN 9 8l
TS, ST U IR |

Mahesh Ltd. issued 1,000, 10% debenture of Rs. 100 each
payable as Rs. 40 on application, Rs. 30 on allotment and the
balance on calls. Assuming that all the calls were made and

money received thereon, show journal entries.
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